ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - XXX D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-52290\C - Drawings\TX-5224-5226.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

COMPOSITE EDGE
GLAZED FIBERGLASS DOUBLE DOOR

w/ BLINDS BETWEEN GLASS

INSWING /OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code {IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1.

2.

oA

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject to further engineering analysis.
Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of "J" part
numbers. These door panels must be stained or painted within six months of
installation.

TABLE OF CONTENTS

SHEET # | DESCRIFTION

Typical Elevations, Design Pressures & General Nofes
Door Panel Details

Elevations

Horizontal & Vertical Cross Sections

Vertical Cross Sections

Frame Anchoring

Hardware Details

OO NON O W R [

Lite Frame & Glazing Details

Bill of Materials & Components

] )
S LR
Foigi g2, B
LA = g us
S i bu ¢R 87
AT : et E n fin
25 i FES
204 : 53 P05 4
7 H zZ Q. ZZ
o : Bd 222 60
oY s, i 5F KE8 sE
Gy, 250 4g
eg @ ooooo 17} n E
Ty, # ot Z Qw 05
lh "(‘;—J P Qn o
o & 0% aw
° 23z w
[ = m O L
‘g .9-' o g 00
g Rof ik
o § mg
I——' 74.5" MAX. O.A. FRAME WIDTH ‘——] 3 HO
8
0
L
&5
hdd %q
53 .
xao =L
0) To =t
) ) <0 |5 <©
< £ ES 2 503
= s L |5 o
<2 <P IE lo " »
o= o> o |2 ".GL:I
< < O oy I SD
e == 5 x =0
L0 £ = O &
., XX in = o E Oc
S w W & < o
E 5 o 0. [a
= = S
[ring é om
.
n
=
(]
2]
o
o
o
<
a
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) %
CONFIGURATION INSWING OUTSWING oAt 7,/21/21
POSITIVE NEGATIVE POSITIVE NEGATIVE scat:  N.T.S.
owe. B:  RW
XX +50.0 '55.0 +50a0 -50-0 CHK. BY: LFS
DRAWING NO.:
TX—-5226

SHEET 1 oF 8

© 2021 R.W. BUILDING CONSULTANTS INGC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-5229\C - Drawings\TX-5224-5226.dwg

. - 12"~ 1.88" —=f = 1.2" =] .
e B e < EXTERIOR — :
? R l{j P
N EEE ZF NE
i s
i COMPOSITE
/ \ \ CAP
Co“éigs”'f HINGE STILE L] D INTERIOR LOCK BLOCK LATCH STILE
ENG. WOOD 12.5" LONG (WOOD ENG. WOOD
‘ ) / 1\ HORIZONTAL CROSS SECTION 25/ LONG (WOOD) )
\2/
04 ~ 12 1.88" —{|=-1.2" =]
T Oy (BRR e | =04
> 1D G L
/ ] D D N / ; COMPOSITE
CO"éigs‘TE HINGE STILE ] INTERIOR B LOCK BLOCK LATCH STILE
(ENG. WOCD) /"2 \ HORIZONTAL CROSS SECTION  12:5'LONG (WOOD)  (ENG. WOOD)
\2/
36" MAX. DOOR 35.81" MAX. DOOR 35.81" MAX. DOOR
PANEL WIDTH PANEL WIDTH PANEL WIDTH
E 2 ; E 2 } E 2 ;
/10 = 27\ 20\
2/ v & v\ v
= T £
Q O O
T .. . T .
< i iz L
9 X S X S X
2 NER °IT & °T
3 3 3
3 3 3
N / R / N /
/// Vi 4//
/ // /
4 { <
FIBERGLASS DOOR PANEL FIBERGLASS DOOR PANEL

40

FIBERGLASS SKIN: 0.073" MIN. THK.
FOAM CORE: POLYURETHANE -1.9 PCF MIN.

BOOK DOCR - COMPOSITE EDGE

41

HYBRID DOOR - COMPOSITE EDGE

42 FIBERGLASS DOOR PANEL

U1 DOOR - COMPOSITE EDGE

TOP RAIL
{COMP./ENG. WOOD)

FOAM CORE

INTERIOR

CJ

e

@/’
L
/

0.85"

~ EXTERIOR

0.85"

FIBERGLASS SKIN N
A
BOTIOM RAIL—" [
(COMP.) -

<—-——].7"—>

7“3\ VERTICAL CROSS SECTION

\2/

TOP RAIL
(COMP./ENG. WOOD)

asEveRBRINIEY

104123

srerenereeins

&5
O %
D,
s

e ].;ﬂ‘ e

: . (o]
FOAMCORE ||
\ ; f;
\;:
—N—
0 1’ %
) | |
CwWilll
INTERIOR W EXTERIOR
L_/ﬂl T
;| - E%
I/
A
FIBERGLASS SKIN ”
(=]
BOTTOM RAIL—" |[
[COMP.)

/ 4\ VERTICAL CROSS SECTION

W

0N

-
27 1)
.'93 o
Er o} ul i)
B [ W o
{E tn e
. ] = -
[ RN] [S 5 (.'JI
.2 £ N §Go

W .
c I(_/_,‘ig WE 3
5 o <
° Z 9y ZZ
ci <-9% [e)e]
% Hto aE
3 “35%¢ @
A>n ”’E
= i
Z o o
QM by
& O ol
° géz b
e Emy 08
8 =

o =0 9° [s]
o 5Q¢ %E
a man 05
: D gt
wo

3
2 o

0

[

THERMA—TRU
FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NO. DATE

DATE: 7/21/21

SCAE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

\2/

DRAWING NO.:
TX—5226

SHEET 2 oF 8

- © zo21 r.w. BuiLbing ConsuLTANTS INC.



TON| SLNVLTINSNGY 9NIQTHNE "'M'd LZ02 QO

Ze8L1—4 # NOLVAISIONN 40 IALVOLALLMAD g SNOISIAZY SIva TON
SHIAINIONT IVNOISSHA0Md 40 Q¥vOos SVXIL SNOILYATTI A m sl _..S. © 9_
L6LE'6G9'TLE "ON euoyd : g NEE™
GEGEE 14 OOMIPA OTZ Xog 'O'd \Sugv ATBNISSY d0 Ldvd S M = P aie
*ONI ‘SINVLIINSNOD aNIgUNg N L E 3_

400a SSY1943dld NoLElEle 2

CZIPOL# "I'd SVX3L NAL—-YWNYIHL i w ol v W r
‘T IPIUYDS "4 Uopuky :Ag pedndaugd sjuswinoog :19N300¥d 218 W 515 5

F51
SIGNATURE SERIES

DEADBOLT: B&0

KNOB:
DEADBOLT:  SIGNATURE SERIES (980)

KNOB:

SCHLAGE
KWIKSET

SEE HARDWARE
CHART

~

BMp'ozes-772s-X1\sBuImelq - S\6Z2S5-r2es X1) sques dwod dwi 54 5g9 0.8 18 8.9 -XXXX a1 XXX - 1L\sul $0 1daq sexa) - g\ININYAYId ML BWIBYL\SIUBID\Z



DRYWALL

A -
0500,

o%% "'3 {3
026308630
0,

o

o,
9,

o
of
0

o,
&3
0,
0!
£

25
333
ol
3
&)
=

o
&
&}
o
o

&3
o
620,
030!
990
690!

BSES

020,

S0

3

290

0590
4

o
0
&

~ 0.15"CSINK

SHEATHING

m HORIZONTAL CROSS SECTION

w Outswing shown {Inswing similar)

INTERIOR

EXTERIOR

INTERIOR

EXTERIOR

® @@

SHEATHING

(@)

EXTERIOR

N 'F SCHMIDT

PR EIIEERNIRREREN B OPEE

sasanererren

LYNDO

prd
5
L4
rl

'%.111

43

I =k

104123 7

sevgaveesne

F X3

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

B813.659.9197

m VERTICAL CROSS SECTION

W Outswing shown {Inswing similar)

@0)an@)

7”3\ HORIZONTAL CROSS SECTION

\4/ Outswing shown [inswing similar)

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33585

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:
HORIZONTAL & VERTICAL
CROSS SECTIONS

PRODUCT:

BY

NOJ DATE

DATE: 7/21/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—5226

SHEET _4 oF _9

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-5229\C - Drawings\TX-5224-5226.dwg

REVISIONS

@ 2021 R.W. BUILDING CONSULTANTS INDC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX {D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-5229\C - Drawings\TX-5224-5226.dwg

INTERIOR

(0)are)

SEENOTE 1

Noies:

1. Sill ltem #32 is attached to jambs w/ (3) #8 X 2-1/2" pth screws af each end.
Sill ltem #33 is attached to jambs w/ (2} #8 X 2-1/2" pfh screws af each end.
Sill tem #34 is aftached to jambs utilizing {2} #10 X 2" pph SMS af each end.

W\ EXTERIOR

(8)

32

K ) wooD

D ) CONCRETE
71"\ VERTICAL CROSS SECTION

W Inswing Sill

EXTERIOR

(0a(a2)

SEENOTE1

EXTERIOR

(0)a(e)

SEENOTE 1

INTERIOR

/ 2"\ VERTICAL CROSS SECTION

\y Outswing Sill

INTERIOR

CONCRETE
m VERTICAL CROSS SECTION

\y Outswing Sill

CONCREIE

ANy,

H AENPLOEIEERININS

sarrgiverssiorerses IOy
.

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

BUILDING CONSULTANTS, INC,
P.O. Box 230 Valrico FL. 33595

Phone No.:
CERTIFICATE OF REGISTRATION # F—11852

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

THERMA-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:
VERTICAL CROSS
SECTIONS

PRODUCT:

BY

NOJ DATE

REVISIONS

oATE: 7/21/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5226

SHEET 5 oF 9

© 2021 R.W. BUILDING CONSULTANTS INC.



TON| SANVLINASNGD aNIaiing "m'd L2022 @

ZS8LL—d4 # NOUVHLISIONN 40 FLVOL4LLNIO SNOISIAZY -

SYTINIONT TYNOISSIHOHd 40 aNVO8 SVX3L ONINOHONY TV Ad 4lvd [ON 3 slzlo] o© 9_

LELE'6S9'CLE 'ON Buoyd : 33 N
SBSEE “ld4 OOMIPA 0£Z xod "O'd \N\Wg ATEWISSY ¥0 Ldvd W W - g :2u 5
‘ONI ‘SINVLINSNOD ONIaiNg N . g1 6_

¥00a SSY1943gld ~NoTE|Eg B
£ZIvOL#F “3'd SwX3L NYL—VYAYIHL i w 6l yl|E m
"I'd IPHLYDS 4 uopuk :Ag pedpdeld sjuswINSog :1oNAoYd 3518 Z 5 m 5

S

¢ S ",
~ Ry *
BT S A A A L A

-----

QQQQQ

(3) #8x2-1/2"
PFH WS

2
7 &
[}
m).
TlE
o
fasn]
s
<
'
£ ST
% (dAl) D0 _ | mm
P —] _ll ('dAL) .9 XYW 71 _ M /
| | | | | |
o— E S—
w o B _
e ol
& = |E
—_ =0 £ |l
= "y
2 B oe 2 1t
) oF
< — w & |
: He :

‘F
N
i
1
\l
l
L1 1
XX

HEAD & JAMBS
(TYP.)
SEE DETAIL 2
(SHEET 7)

FRAME ANCHORING

3" (TYP.) —=—
4'(TYP.) j
|

—
—
—
—
—

(TYP)

FRAME

BMp9zZS-vees-x1\sBumeld - D\(6225-v22S X1) squer dwod dwi 94 98¢ 0.8 18 8.9 -XXXX QI XXX - [AL\su} 0 3daq sexa] - S\LNINVINYId NiL BwsRyI\SJudlD\Z



"ON| SLINVLINSNOD SNIOTHNE "M'd L1208 5
ZS8il—d # NOUVAISIORM 40 ILVOL4LLYNIO SNOISIAJY :
SHIINIONI TWNOISSIH0¥d 40 Quvos SvXal STIVIIA INVMONVH Ad 31vd [ON Sloalzlonl o 9_
. ; ) L
. : s e ~N
coace ot ot e roa o \Su@“ KIBN3SSY 90 1avd W ard Il R &
ONI ‘SINVLIINSNOD ONIgHNg ~ . g | 7_
4000 SSYT1947dld NolE|EIg B
CZIPOL# "I'd SvXaL NAL~VNHIHL gl m g|x|® &
A'd IPIMIYDS 4 uopukl g pedpdeld sjuswinoog $19Naodd 28 W 5 W &
)2 92-¢,
oo 14
g .,0... T .,,,Y % D <
2 aﬁxow 4 NOANAT 2 <o
M\Mo-onuan:ao.c sonrenany n:o:o.cunoﬁm & VQ / w .m
ww t«t . .oo * P - “.\ .
- v, . &/ ey £
-~ %.w .h. wv I 1
w ﬂwa%ﬁ? ﬂ W
Q\ Q M
AWVT 40 J00AQ ARgAH/ LN M =
dOLWO¥4,.SZ1°L L (dAL) .S 6T //\ , B o
£
GAVT 40 | ¥ooaxoos ~ w3
dOL WO ST 11 (dAl) .ST6Z - ®re g
o M 11 =
¥ * _ FJ..
| oA . . . - . _ hNU E ” Q M
= & N
<
s ®
[ R
o
SE
T
[ K]
b
—~—($'L 7} .0PY w
. 5
:mm N- w
oo
<l
L
/ 5
art
G
EE
< Lo
el
@
[}
o ~28 3
] =t £ X Se—
& S
= ol i
g Ség a4
Y £ P
p ® < =
L -
el 1 %)
i -9 / w5
oz a = W m o
2 g3 |6 R s ¢ a
B|. o 9 a’g o % Q
Sk S A 2 Y7, =S N
S|2 (=X 2 e g
Ql~ e / L]
A \ g 3z T
o3 m \ O T NG e m
Tl Zele
m Jll &3 52 3
N 9T Be
S&

BMp9zes-rees-X1\sBumelq - D\(6225-¥2zs XL squier dwod duj 94 998 0.8 18 8,9 -XXXX QI XXX - IAL\su} Jo 1daq sexal - G\LNINVINYI ML BULIBYINSIUBIDNZ



"]
ALY L
SR 33 0
ST RTin by £2 0 bp
DOW 995 GLAZING :":,“‘\h%...‘.ﬂg ﬁ ;00-.,.:;4} z ‘E:qh % % E
COMPOUND 5&?}},‘ 12 " ;- Bu g 2 §o
g1 Nsizia gles Sag et
DI BNy ot o
BV . ¥, Y Y z i3 . £ 00
NORSEAL CLOSED CELL 172" GLASS BITE s, | i F15* 558 ot
AM A - B> gjg
PVCFO ——— 1-1/4" O.A. THICK GLASS Uit Z eSS 29o bb
EXTERIOR W xin & B8R Eg
‘&& "C Xz
1/8" ANNEALED GLASS R B OEd, Sy
= 4 [a}
|~ 0.090" SAFLEX PVB INTERLAYER g 328 g
0 Q
" = _ Q T2 1/8" ANNEALED GLASS £ § E
20.94'D.LO. “E ” : ~—  BLIND INSERT : @ 58
WIDTH — 3
? \AIR SPACE 8
- 1/8" TEMPERED GLASS
‘ INTERIOR
FOAM SPACER
! 4A w/ ALUM INSERT « 3
b 38 MJE
#10X2Z'PPHSMS  NORSEAL CLOSED E!a =4
.o m
CELL PVC FOAM R
B3 |3 &Y
e o I
. GLAZING DETAIL RE (g e
#10X 2TYF;PH SMS Gl 1-1/4" Insulated Laminated Glass gl & x ]
/ (TYP.) w/ infemal Blinds 2 o
O 14
= } & &
V)
D &
o
a
%
O
J__
o 1.53" "
©E 5
= %)
|
[t
e
e Z
(TYP.)
o
P4
PACT LITE FRAME
68" LITE FRAME (4n)2LUMINGM 14 w7727/
ALUM. (6063-T5) scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFsS
DRAWING NO.:
TX—5226

sHeer 8 ofF 9

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX ID XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-52290\C - Drawings\TX-5224-5226.dwg

© zoz1 rR.w. BuiLping CoNnsuLTanTs Ino.



Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-5229\C - Drawings\TX-5224-5226.dwg

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL
A | 2XFRAMING (SG >= 0.42) WOOD
C | 1/4"MAX. SHIM SPACE -
D | 1/4"PFH DeWALT OR ITW CONCRETE SCREW [1-3/4" MIN. EMBEDMENT] STEEL
F_ | #10 X 2° PFH WOOD SCREW STEEL
K | #10 PFH WOOD SCREW (1-3/4" MIN. EMBEDMENT] STEEL
L [#10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT] STEEL
P | 3/16" PEH TW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
1| COMPOSITE JAMB COMP
7 | WEATHERSTRIP FOAM
8 | DOOR SWEEP VINYL
9 | SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL
10 | #10X1-1/2" PPH SMS STEEL
20 | #8 X 2-1/2" PFH WOOD SCREW STEEL
21 | #12X1-1/2" PFH WOOD SCREW STEEL
22 | #8 X 3/4" PFH WOOD SCREW STEEL
23| #9 X 3/4" PFH WOOD SCREW STEEL
24| #9 X 1" PFH WOOD SCREW STEEL
25 | #9 X 2-1/2" PFH WOOD SCREW STEEL
26 | #8 X 5/8" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
28A | DEADBOLT SUB-STRIKE PLATE STEEL
29 | 4'X 4'HINGE STEEL
32 | INSWING THRESHOLD ALUM/COMP
33 | OUTSWING THRESHOLD ALUM/COMP
34 | PUBLIC ACCESS THRESHOLD ALUM
40 | DOOR PANEL (BOOK] -
41 | DOOR PANEL (HYBRID) .
42 | DOOR PANEL (U1) -
44 | COASTAL ASTRAGAL [THERMA-TRU) ALUM
78 | MULTIPOINT LOCK STRIKE PLATE @ HEAD STEEL
79 | MULTIPOINT LOCK STRIKE PLATE @ SILL STEEL
80 | COASTAL ASTRAGAL STRIKE PLATE STEEL

g\l’_ 1 " i R- %:(,\:\3:&‘%-11’{1 L g
— 4.56 ] e T Bl o% 0
i { S iR gy Do & o
o F et D5 5’3 3‘3 e n i
: S T RN S I - L
}»{z{'.,- iT: og{,é} NE A% g8 ET
of Lo PG im w vl .0 Z z
[ O Ly %’. s W N
ol ": i wiz2gfd R
: B il ieis gixgl o |58 £ha 33
: - QoL isio SioM T 188 289 2%
l 2]2!! e‘}_". :z:" \h.'\ g‘" = LTn ==
! . ' D, HO B 5 3 d5¢ Ak
??'t/é_'.“ H [ :_ ‘.f(:{/ a > ‘7'_) uj é
QXS b Z L Zob &0
COMPOSITE JAMB Uy i TS s 8R. Bo
1 311 PN ) ¢ ol
11‘!@‘?:.:&\,‘\-‘\" O Xz =
2 28, Oy
g 255 oo
| 456" - © Ros IH
4.56" ' 56 X § 38
] Q.
5 gE
+ T P 88
$ 3 g
- 3}
n in o
INSWING THRESHOLD S 20
32 NS LD 33) QUISWING THRESHOLD 53 ==
Adjustable Composite Sil Composite Sil Lo e
B 3 =L
i " S m =
é - Eo |3 wo
& TE | ©©
© STV A
S in D g O
| | AT AT .
’._
! . N @] &
AT L ey e U J LML
1.79" -
7 ] 2.06 -
Q m
@ PUBLIC ACCESS THRESHOLD S . SWEEP (: ) SWEEP
)
Z
Q
(2
o
~—1.91" -
] CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusfed fo
% _,,,H_.__ 0.06" maintain the min. edge distance fo mortar joints, addifional concrete anchors
3 may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. lﬁ-"
3. Concrete anchor table: g
R AR TMIN. CLEARANCE ‘
D TOADJACENT: o
! cotnE B o i <
] |=—0.13" Wb o owE: 7,/21/21
TAPCON SCAE N.T.S
44 ) COASTAL ASTRAGAL DeWALT 1 ., 11/4" ; . —
utiracons] VY -1/4 1 4 DWG. B:  RW
. TwW ® 3/] 6" ]_1/4" AS SHOWN 1_1/2!! CHK. BY: LFS
APCON DRAWING NO.:
WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of TX-5226

wood screws to prevent the splitting of wood.

SHEET 9 oF 8

@ 2021 R.W. BUILDING CONSULTANTS ING.




